Perfecting your skills in Dimension Analysis
Name:_________________________
Date:________
Period:_____
      How many mm tall is the tallest structure in the world? (The Canadian National Tower is            1815 feet)

How long will it take for Joey to haul 240 bricks in his wheelbarrow?  He can carry only 30 bricks at a time, and a round-trip from the garage to the house takes him 10 minutes.

1) How old are you in days? (Round your age to the nearest day where 1 month = 30.5 days)

2) A man raised 60 goats, and then entered into a series of business transactions. He traded all the goats for sheep at an exchange rate of 5 goats for 7 sheep. Next, he exchanged all the sheep for hogs at a rate of 4 sheep for 2 hogs weighing 250 lbs. each. He sold all the hogs at a market price of $55.00 per 100.0 lbs. How much money did he make from the goats?
3) The Amtrak bullet train known as the Acela can travel at 150 mi./hr. What is this speed in m/s?

4) A drag racer roars from 0mi./hr to almost 300 mi./hr. in only ¼mile. How many seconds does it take the car to accelerate?

5) A Stade is a unit of measurement used in the 2nd century BC by the Greeks. It has been estimated that 1 stade = 500. feet.  How many stades are in 1.00 km?

6) A light-year is the distance that a beam of light, uninterrupted and in empty space, would travel in a year -- which is about 9.47 x 1012 kilometers. The next closest star to earth is Proxima Centauri which is 3.99634 x 1013 km from earth. How many light years away is Proxima Centauri?

7) The average speed of the space shuttle is 17,580 miles/hour.  How many days would it take the space shuttle to reach the moon at its average distance of 384,403 km?

8)  From question #7, it took the Apollo missions approximately four days to reach the moon. What was their speed in miles/hour? 

9) The sun is located approximately 1.496 x 10 8 km from earth. If the speed of light is 299,792,458 m/s how many minutes does it take the sun light to reach earth?

10) The dictionary defines a knot as a unit of speed equal to one nautical mile per hour, where a nautical mile is 6,076.12 ft . Though legend has it that the Titanic was traveling at full speed in the ocean when it hit the iceberg it was not. Instead it was moving at 20.5 knots (her top speed was 26 knots) How many days would the Titanic have taken to reach New York City given its journey was 3470 km?

BONUS) If 4 men can dig a hole 8 m deep in 5 hours, how long would it take 2 men to dig half a hole? (Round off to the nearest hundredth of an hour, and then convert to minutes and hours)
